I. TRi2 SFEEIMIEHRAEOHE

1. ERERE R (BFH
D = O R 2% A ST
‘M % ‘M % ‘M %
294 3 H H#I%E 3 U -1 505,710 ( A 2.9) 20,288 ( A 38.8) 8,965 (A 60.1 )
284 3 H 1% 3 U =14 520, 804 ( 6.4) 33,173 ( — ) 22,463 ( — )
BN IRIR T 2 U R 2% 1B 7= 0 DO = el 2
‘M % (2 5
294 3 H H#I%E 3 U1 4,533 (A 76.8) 15.51
284 3 H HI%E 3 U =14 19,500 ( — ) 94. 87
(JFE1) =k FFRIT. SRR P8R

E2)

2. M BOKRE

F1MRAS 720 DUERIRIEE ) 13 DRSS ICRE T 2 UEIHRIRR ) ISRV EEL TR 7,

W' JE wiog E HOEARLE
=] Epils| %
294 3 H H#I%E 3 U -1 1, 802, 025 196, 929 10.3
28 4 3 A # 1, 826, 141 197, 222 10. 2
OHEMRE
1. RERE (HEH)
v o= =¥ R iR A ST
=Dl % B % B %
294F 3 A WI55 3 DU 14 487,571 ( A 2.5) 15,042 ( A 48.9) 4,297 ( A 77.5)
284 3 A WI%E 3 DU -1 500, 076 ( 6.8) 29,457 ( — ) 19, 138 ( — )
DU = H R 2% 1 BEY 72 0 PO 25
=Dl % (R
294F 3 H HIEE 3 DU -4 1,521 ( A 91.5) 0. 86
284 3 H HIEE 3 DU -4 17,879 ( — ) 86. 98
(E) A=t FEIRIE, kB4R R DU R
2. MEBCREE
W' E wiog HOEAER
HrH HrH %
294 3 HHAZE 3 U4 1,738, 766 158, 435 9.1
28 4 3 A # 1, 765, 091 160, 864 9.1




